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106& $15 P B A RTFREFTRALS

e P TETryS GRAE g0 | 2% | 0n | sn | am | k[ 2e | TR pue gl an | vn | a8 | K3 | 2%
. FE AL
Albumin- % # 95.43% 87.45% 95.30% 96.61% 97.85% 79.81% 94.58% il 89. 23%~100% o < o o o < o
Albumin(BCG) 7k 157 71 111 93 115 14 561

1 R A Albumin(BCG)-* 32 & 3.92 3.88 3.93 3.93 3.89 3.97 391 )

Albumin(BCG)=3.5F 4 90.36% 87.96% 89.80% 90.55% 89.88% 91.24% 89.88%| & =84.51% o o o o o o o
Albumin(BCP) 3 8 5 10 6 2 1 32

Albumin-- 2 & (BCP) 3.62 3.35 343 3.83 3.36 3.14 3.50 )
Albumin(BCP)=3.0F 4 92.55% 83.08% 89.43% 94.44% 86.79% 76.29% 89.59%| i =83.51% o < o o o < o
URR URR-#% i ¥ 95.32% 87.30% 95.23% 96.54% 97.66% 79.57% 94.46% iﬁggii 89. 15%~100% o < o o o < o

2 (102 #7558 p, 2~ RKt/V) |URR-T32iE 75.55 75.41 74.63 74.79 74.57 74.10 75.01 -
URR=65%F # +* 96.16% 96.62% 96.52% 96.86% 96.83% 96.59% 96.56%| i w =88.99% o o o o o o o
b Hb-% # ¥ 96.33% 86.73% 95.79% 96.78% 98.12% 79.37% 94.92% iﬁggii 89. 41%~100% o < o o o < o

3 (102 #7358 P, P~ Hct) [Hb-T32ig 10.50 10.53 10.58 10.45 10.59 10.49 10.53 -
Hb>8.5F 4w 94.44% 94.89% 94.69% 94.59% 95.53% 94.58% 94.80%| 1w =88.70% o o o o o o o
? B o ([BFEMF<lE2LMF 0.51 0.65 0.69 0.72 0.34 0.00 0.53 g =1.10 o o o o o o o
BHEF1E2 742 F 0.94 0.31 0.64 0.67 0.73 1.41 0.78 g e =1.09 o o o o o > o
?Fii‘???p BHEFEF<lEZ7= F 0.70 1.11 0.93 1.34 0.90 1.58 1.00 g =1.22 o o o > o > o
5 P BREF1E2L52 F 0.88 0.80 1.04 0.96 0.80 1.29 0.91 g =1.20 o o o o o > o
(r/&F A1) i“?p???p BHEFEF<lEZ7= F 1.15 0.96 1.10 1.19 1.06 1.02 1.08 g =1.57 o o o o o o o
BHEF1E2 742 F 1.17 0.80 1.01 1.32 1.19 1.29 1.06 g e =1.35 o o o o o o o
AR |BHRER<1ELM F 0.92 0.21 0.77 0.96 0.55 0.36 0.74 g =1.13 o o o o o o o
BHEF1E2 42 F 0.91 1.02 0.90 0.82 0.92 1.06 0.91 g e =1.08 o o o o o o o




106% $ 15 B S HRTFREFERRE L

T Tama g0 | 2% | 0n | an | am |k [ 2e | TR pue g fan | vn | a4 | a8 | K5 | 2%
Albi in-% 3 [ o o7 o o o7 o7 %ﬁﬁﬁiﬁ 0. 0
umin- £ # F 97.78% 98.95% 98.70% 98.73% 98.05% 96.00% 98.25% il 89. 49%~100% o o o o o o o
Albumin(BCG) 1k 22 18 17 19 15 4 95
, Albumin(BCG)-* 32 & 3.76 3.85 3.74 3.73 3.72 3.76 3.76
1 i Y Albumin(BCG)=3.5F 4 80.27% 84.33% 79.67% 81.41% 76.90% 85.00% 80.33%| 1w =78.97% o o o o < o o
Albumin(BCP) 3dic 6 2 9 - - - 17
Albumin--T ¥2 & (BCP) 3.31 3.17 3.25 - - - 3.28
Albumin(BCP)=3.0F 4 1 77.85% 77.78% 80.59% - - - 79.02%| & # =78.68% < < o - - - o
b Hb- £ #& % 98.04% 99.34% 98.95% 98.28% 97.28% 97.50% 98.26% ﬁggii 89. 48%~100% o o o o o o o
} (102# #7358 P, B~ Hict) [Hb-T32ig 10.26 10.28 10.03 10.11 10.08 10.43 10.17
Hb>8.5F 4w 89.39% 92.26% 89.36% 91.03% 87.50% 94.87% 89.73%| i =87.49% o o o o o o o
? g [SREFLIELZ F 0.00 0.48 0.25 0.58 0.26 1.92 0.27 g =0.41 o > o > o > o
BHEF1E2 742 F 0.36 0.65 0.28 0.59 0.30 0.61 0.40 g =0.67 o o o o o o o
T i ? Fo |STPeR <12 5+ % 0.39 1.68 1.02 0.00 0.00 0.00 0.49 g =0.66 o > > o o o o
S P SHREZIEL - § 115 0.12 092 0.68 0.44 0.00 074 4w <0.98 > 0 ° 0 0 0 0
(/EF) [ Ragn [drmR<lesss & 0.00 0.00 0.00 ; 0.00 ; 000 4w <0.47 o o o - ° - 0
BHEF1E2 42 F 0.00 1.99 0.65 - 1.82 - 1.34 g =0.85 o > o - > - >
BAL T |SHBR<1EL7= § ; ; ; ; 0.00 ; 000 ¢ <0.00 - - - - o - o
BHEF1E2 42 F - 0.00 0.00 0.00 0.00 - 0.00 g =0.87 - o o o o - o
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HRIDL 7 47 %R fi—s i 39 (Albunin)

FF ST &dt JEE & = =5 HIE /NET
10475/ NaT |Gk 167 81 121 104 117 18 608
Albumin-fg £ bE % 98.66% 99.39% 99.20% 99.01% 99.06% 98.37% 99.37%
Albumin(BCG)Z7 8 159 76 111 100 116 17 579
Albumin(BCG)FH5{H 3.9044 3.8574 3.8984 3.9009 3.8448 3.9092 3.8837
Albumin(BCG) =3.527 F47tE 94.44% 93.39% 94.11% 94.50% 93.46% 91.98% 94.03%
Albumin(BCP)Z 8 17 11 17 12 5 3 65
Albumin-~FF5{E (BCP) 3.4823 3.4103 3.3515 3.5594 3.2502 3.4646 3.4314
Albumin(BCP) =3.07 H 4y EE 93.44% 90.67% 92.13% 94.89% 83.33% 94.85% 92.86%
10545/ et |BePag 174 30 125 102 119 19 619
Albumin-ff £ bE % 97.99% 98.97% 98.93% 98.76% 98.87% 97.80% 98.91%
Albumin(BCG)Z7 8 169 75 115 98 118 18 593
Albumin(BCG)FH5{H 3.8877 3.8445 3.8911 3.8889 3.8433 3.9287 3.8744
Albumin(BCG) =3.527 F47th 94.18% 92.62% 93.99% 94.02% 93.36% 93.28% 93.78%
Albumin(BCP)% £ 9 6 12 10 1 2 40
Albumin-~FF5{E (BCP) 3.5065 3.4446 3.3451 3.7644 3.2133 3.2443 3.4373
Albumin(BCP) =3.07 H 4y EE 93.99% 90.54% 92.15% 96.47% 90.48% 86.11% 92.71%
10655512 |BeprEL 164 76 121 97 116 15 589
Albumin-f £ bE % 95.43% 87.45% 95.30% 96.61% 97.85% 79.81% 94.58%
Albumin(BCG) R &; 157 71 111 93 115 14 561
Albumin(BCG)FH5{H 3.9184 3.8829 3.9276 3.9273 3.8920 3.9677 3.9122
Albumin(BCG) =3.57 F47tE 90.36% 87.96% 89.80% 90.55% 89.88% 91.24% 89.88%
Albumin(BCP)% 8 8 5 10 6 2 1 32
Albumin-~FF5{E (BCP) 3.6177 3.3463 3.4262 3.8307 3.3623 3.1371 3.5018
Albumin(BCP) =3.07 H 4y EE 92.55% 83.08% 89.43% 94.44% 86.79% 76.29% 89.59%
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(DR LR =531 AR Albumin A B MEMURENTH AR - F5I4me% 25 1 1956 ~ 450 1984 -
(2) P9 {E=F s Albumin i 53 (B = 41/ FA R AlbuminfR SR E R0 #4588 - FEMF4RSE © 28 BCG © 2032 ~ BCP: 2033 » 4 : BCG * 2052 ~ BCP: 2053

(3)(BCGHaERE) = 3.5H 73 b= 51 AHIE Albumin(BCGIE) = 3.5gm/dlZ AB/ & MEMUREATR AHIE Albumin(BCGIZE) B - F5IE4RTE © 2= ¢ 1958 ~ 4F ¢ 1986 -

(4)(BCPHRERE) = 3.0 47 =53 BH% AHI 8 Albumin(BCP;%) = 3.0gm/d1z. A S48 M B A AHIE Albumin(BCP;Z) A - 51845 « = ¢
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FaRHD1 s i E ATy

%4 fi-s 5 39 (Albumin)

HFF FraE By | EEER | EER | A2

10445/ NaF  [BeErEL 19 74 154 361
Albumin-fg & L% 98.34% 98.85% 99.04% 99.12%
Albumin(BCG)ZZ # 18 64 138 359
Albumin(BCG)>EH{H 3.8757 3.8792 3.8486 3.8999
Albumin(BCG)=3.5" 1 47kL 92.99% 93.03% 91.68% 94.95%
Albumin(BCP)Z7 %} 3 13 25 24
Albumin->}-5{g (BCP) 3.5182 3.3883 3.4262 3.5896
Albumin(BCP) =3.0 H 4y EL 95.60% 91.41% 92.33% 96.15%

10545/ NaF  [BeErEL 19 75 157 368
Albumin-fg & FH3% 98.79% 98.41% 97.49% 98.88%
Albumin(BCG)ZZ # 18 67 142 366
Albumin(BCG)>EH{H 3.8675 3.8847 3.8437 3.8815
Albumin(BCG)=3.57 1 47kL 93.62% 92.88% 91.46% 94.45%
Albumin(BCP)Z7 %} 2 11 18 9
Albumin->}-5{g (BCP) 3.3750 3.4406 3.4343 3.5415
Albumin(BCP) =3.0 H 4y kL 94.06% 92.70% 92.12% 94.64%

1064E5512F |Bepns 19 75 140 355
Albumin-fg & L% 98.70% 97.65% 83.66% 96.32%
Albumin(BCG)ZZ # 18 66 127 350
Albumin(BCG)>EH{H 3.8861 3.8947 3.8865 3.9330
Albumin(BCG)=3.5" 1 47kE 89.41% 88.47% 87.12% 91.42%
Albumin(BCP)Z7 %} 1 10 13 8
Albumin->}-5{g (BCP) 3.4378 3.5095 3.4449 3.7330
Albumin(BCP) =3.0 H 4y kL 90.78% 89.96% 87.73% 93.92%

sy

LERIEKR © (E{RA B R MTE R 24 -

2Efﬁ; PSR BT (ZE MM R05) Fe 2 BT I AT R SR VPN _E (AR B ORI -

W
(DAL =43RI E Albumin A B MEMURENTR AR - F5IE4R5% - = 0 1956 ~ 45 ¢ 1984 -

(2) P {E=F i Albuming B {E < FH1/ 5 R AlbuminkRBR{E A0 4858 - F5#R4m5% © &=+ BCG @ 2032 -
2033 » 4F 1 BCG : 2052 ~
(3)(BCGHEER) =355 77tE=

BCP * 2053 -

AN o FEIERTR =0 1958 ~ £t 1986 o
(4)(BCPHabi£) = 3.0 43 bb=4 8% A A& Albumin(BCP;£) = 3.0gm/dL2. A /18 M: IR

)\%ﬁz et © &
TIEMEENTEA ) EE ¢ KELE

1959 ~ 4+ 1987 -

*” B HHA: 106/07/25

SBGREAL

BRI h S (R Db 2

CERTE

R H P2

BEREEZRA

BCP:

73 B A HIE Albumin(BCGIZ) = 3.5gm/dLZ AB/EVEIIRE TR A E Albumin(BCGIZ%)

B AOHTE Albumin(BCP)Z)




ApiRHD2 o R 547 _Fk ¥ B4722 5 -URR
FF pad =il &4t JE& & B & =5 i /NEt

10445/ NaF b2 Fr e 167 81 121 104 117 18 608
URR-f@E EER 98.57%| 99.07%] 98.61%| 98.97%| 98.98%| 98.31%| 99.21%
URR-EH{H 75.4746] 75.6802] 74.5939] 74.6092| 74.3221| 73.9374] 74.9397
URR=65%.7 H47EE 98.82%| 98.69%] 98.88%| 98.90%| 98.76%| 98.73%| 98.85%

1054F/\&t R s 174 80 125 102 119 19 619
URR-f@E EER 98.15%| 98.70%] 98.94%| 98.71%| 98.81%| 97.74%| 98.90%
URR-E{H 75.6444) 75.6798] 74.6918] 74.9613] 74.5269] 74.1420] 75.0974
URR=65%.7 H4rEE 98.87%| 98.72%] 98.78%| 99.02%| 99.05%]| 98.34%| 98.91%

10645612 FreprEg 164 76 121 97 116 15 589
URR-f@E EER 95.32%| 87.30%] 95.23%| 96.54%| 97.66%| 79.57%| 94.46%
URR-EH{H 75.5473) 75.4076) 74.6267| 74.7937] 74.5682] 74.1016] 75.0052
URR=65%.7 H4rEE 96.16%| 96.62%| 96.52%| 96.86%| 96.83%| 96.59%| 96.56%
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T RHD2 & A 4T _SE F B 450 -URR

FER &R B2y | BBl | tEER | BE2H

10446/ N BEETEL 19 74 154 361
URR-f & L= 98.21% 98.68% 98.28% 99.08%
URR-EH{H 74.5473 74.9538 75.0604 74.9613
URR =65%_ 5 47EL 98.51% 98.39% 98.56% 99.05%

10545/ Nt bR 19 75 157 368
URR-f & L= 98.66% 98.32% 97.63% 98.84%
URR-EH{H 74.4308 75.0531 75.0821 75.2584
URR=65% H47EE 98.28% 98.63% 98.61% 99.08%

10645512 EEE 19 75 140 355
URR-f & L= 98.61% 97.44% 83.60% 96.23%
URR-EH{H 74.1566 74.8363 75.0932 75.2350
URR=65% H47EE 95.55% 96.07% 96.48% 97.03%
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(2) P {E=FF HURR b B (H < S/ FH SR URRARBRE R R 0.2 S5 28 - $E1E4RTE © 2= 1 2036 ~ 4 ¢ 2056 -

(3)=65% 2 E4rtb=4rRHE A CHIE URR = 65% 2 N B8 MR BT % A B EURR A B - 15124558 © = 1 1963 ~ ¢

1991 -

5 BB ) TR ¢ RO EIGE » S A P TR B TR A ¢
RIEIR A 0 ERTE - B RALRBHTKY VIS

4. 243 H: 106/07/25
SBGREAL ¢ WA EAED L R R b



4ptRHD3 w i F47_F & A -Hb

FF gl =il =8N JEl& & & =5 Rl /NET

10445/ NaF b2 Fr e 167 81 121 104 117 18 608
Hb-fa & R 98.78%| 99.43%| 99.27%] 99.18%| 99.24%| 98.37%| 99.50%
Hb-F51{H 10.5071] 10.4700] 10.5391] 10.4979] 10.5886] 10.3928] 10.5193
Hb>8.5¢/dL 75 47kh 98.40%| 98.47%| 98.48%) 98.81%| 98.91%| 97.08%| 98.59%

1054F/\&t R s 174 80 125 102 119 19 619
Hb-fa & R 98.47%| 99.15%] 99.12%] 98.96%| 99.10%| 98.29%| 99.19%
Hb-EHE){H 10.5103] 10.4163] 10.4892] 10.4821] 10.6001] 10.4379] 10.5050
Hb>8.5¢/dL 75 47kh 98.21%| 98.40%] 98.39%] 98.49%| 98.99%| 98.26%| 98.52%

10645612 iz 4y 164 76 121 97 116 15 589
Hb-fa & R 96.33%| 86.73%| 95.79%) 96.78%| 98.12%| 79.37%| 94.92%
Hb-F5{H 10.5009] 10.5337] 10.5750] 10.4512] 10.5936] 10.4851] 10.5292
Hb>8.5¢/dL 7 47kh 94.44%| 94.89%| 94.69%) 94.59%| 95.53%| 94.58%| 94.80%
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47 RHD3 i 77

St B Hb

FEE &P B2 | BBl | #EBk | EE2Hh

1044F/Na BerTEL 19 74 154 361
Hb-f & LB 98.64% 99.03% 99.25% 99.22%
Hb-+51H 10.6253 10.6217 10.4634 10.4746
Hb>8.5g/dL> F 47k 98.60% 98.57% 97.97% 98.51%

1055/ N\EF b Frr 19 75 157 368
Hb-f & LB 99.20% 98.67% 98.06% 99.07%
Hb-51{H 10.5485 10.5815 10.4343 10.4883
Hb>8.5g/dL> F 47k 98.72% 98.63% 98.07% 98.32%

106EF 1 |FRATEL 19 75 140 355
Hb-f & LB 98.96% 98.38% 83.51% 96.60%
Hb-51{H 10.5541 10.6378 10.5580 10.4658
Hb>8.5g/dL> F 47k 95.37% 95.56% 94.11% 94.56%
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(D& Eb=0r B I EHD A BRI BT AR - f51E4mT% - 2= 1 1964 ~ 5F 1 1994 -

Q) (= HO I ER(E =~ 48R/ F S HoMBR (E A0 BB - 58495 © 25 1 2037 ~ 45 1 2058 -

(3)>8.5g/dL Fi 53 Eh=53 B1ps AHI R Hb>8.5g/dL 2 A\ BB MR B TR AHEHD A8 - H51E4RTE © & 1 1966 ~ 4 ¢

1996
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FEHDS S SRR <lE <

HFE S =3t | Jbtl& | & | & | & | ®&E | /Dst
10375/ NeT BTG E<1 A > SE T 8L 341 178 201 178 171 29[ 1,082
BTG E<12F.~ & A 8 | 31,808 16,790 19,717| 17,433] 19,135] 3,051| 106,703
BENTHS <1 2 IR % 1.0720] 1.0601| 1.0194] 1.0210] 0.8936] 0.9505] 1.0140
10475/ NeF BT R<l A 2 ST B 338 1s2[ 211 204 176 36| 1,118
BTG E< 1 aF. X A B | 32,841] 17,183] 21,407| 18,026 18,913] 2,971| 110,052
BENTHS <1 2 IR % 1.0292] 1.0591] 0.9856] 1.1316] 0.9305] 1.2117] 1.0158
10575/ et BT <1 SE T 8L 344 167] 228 196] 199 3| 1,148
BTG E< 1 iE. A A 8 | 34,638 17,575] 22,062| 19,389 19,194] 3,477| 115,128
BENTHS <1 2 IR % 0.9931] 0.9502[ 1.0334] 1.0108| 1.0367] 1.2366] 0.9971
1062E55 15 | iB I E<14E 2 JL 0 BL 73 34 49 52 35 6 245
I T INEE 8,797] 4,524 5,550 4,880 4,879 811] 29,045
BENTHS <1 2 IR % 0.8298] 0.7515] 0.8328| 1.0636] 0.7173] 0.7398] 0.8435
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BARHDS RSt SRR <lEzr= %

F£F Rl BEduh | EiEEEi | ERE | BE2T
1034/ N\5t BENTHR <1 E 23R T A8 94 350 341 459
ENTHR RS <1 5F 2 48055 A\ F 8 10,629 29,891 24,546 44,316
AT <15E 2 JE T 0.8843 1.1709 1.3892 1.0357
1044/ N5 BT < 2T AEL 121 331 362 477
ENTHR <1 5E 2 48055 A\ F 8 10,831 30,964 24,556 46,496
AT <1AE 2 SR T 1.1171 1.0689 1.4741 1.0258
1054751 BT < 2R T AEL 122 337 335 515
ENTHR RS <1 5E 2 48055 A\ F 8 12,283 31,012 23,723 50,936
AT <1AE 2 JE T 0.9932 1.0866 1.4121 1.0110
10655512 A< E 250 T A B 17 78 64 95
ENTHR <1 5E 2 48055 A\ F 8 3,238 7,815 5,927 12,905
AT <1AE 2 SR T 0.5250 0.9980 1.0798 0.7361

st

LERCH « IR B RGIER DR - 15IERIE - F 0 1440 ~ F:

LERHE  PTRENGEEDER0S) ~ KIRE

3T

1450

BT < ESETER= CEREHRZENT/ N TEZIETEZEED X 100,/ CEHEHRIEN /IR 1 2 888 A H 80
orT L oy ERR BRI SR A
orEE AR < VEAVRMEENTR A R gEtEA R Rf T2 RE S 2 AH % -
x TIBMEBETRA ) ERE LR DG - G0 (E A IR AT = R A
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ApHRHDS s ST ST <1E 2 v X

HFF FAER SR 2 | tE | & | & | & | EE | st
1034/ Nt B2 L BT < 1AE 2 SR T A8 50 6 14 8 12 4 94
BT < 125 43% A\ B ¥ 4,570 896] 1,738 876] 1,992 562] 10,629
BTG <1 4F 2 PR T 1.0940] 0.6696] 0.8055] 0.9132] 0.6024] 0.7117] 0.8843
EIREENE BT R< 1 E IR0 AL 89 66 80 63 41 11 350
ENTIE RS < 12627 485% A H 8 7,578 4,978] 6,186] 5.815] 4,483 921] 29,891
BN < EE 2 IR R 1.1744] 1.3258] 1.2932] 1.0834] 0.9145] 1.1943] 1.1709
WEEEfr EMTIERI<IE 35T A 91 66 61 51 60 13 341
BT < 125 485 A\ B ¥ 6,241 5,919 4,964 2,895 3,911 701 24,546
BT <1 4F 2 FE T 1.4580] 1.1150] 1.2288] 1.7616| 1.5341] 1.8544] 1.3892
Hig2pr EiEi<lE2 55T A 160 62 76 79 77 10 459
ENTIE R < 12627 485% A H 8 13,970 5,252 7,199 8,115] 9,163 954] 44,316
BN < EE IR R 1.1453] 1.1805] 1.0557] 0.9735] 0.8403] 1.0482| 1.0357
10455/ N3t |82, EMTHER <1 3T A 53 9 23 7 22 7 121
BT RS < 145 4855 A\ B 8 3,386 792 2,396 1,041 2,204 529] 10,831
BT <1 4F 2 FE T 1.3638] 1.1363] 0.9599] 0.6724] 0.9981] 1.3232] 1.1171
EIREENE BT R< 1 E IR0 AL 102 57 59 65 41 9 331
ENTIR RS < 1262 485% A H 8 8,236 5.,167] 6,004] 6,078] 4,580 884] 30,964
BN < | EE 2 IR R 1.2384] 1.1031] 0.9681| 1.0694] 0.8951] 1.0180] 1.0689
WS R AR < 4E 2 SE T A8 83 80| 75 62 50 14 362
BT < 125 485 A\ B 8 5,510 6,208] 5,772] 3,047] 3,453 657] 24,556
BTG <1 4F 2 FE T 1.5063] 1.2886] 1.2993| 2.0347| 1.4480] 2.1308] 1.4741
Hig2 i EMER <2360 A8 159 55 88 88 86 11 477
ENTIE R < 12627 485% A H 8 15,885 5,256 7,530] 8,089 9,087 988 46,496
BN < EE 2 IR R 1.0009] 1.0464] 1.1686| 1.0878] 0.9464] 1.1133] 1.0258
1058/ Net e by, BEMTIERE<14E 2 36T A8 54 3 34 11 15 5 122
BT < 145 48% A\ B 8 5,064 633 2,844 978 2,275 507] 12,283
BT < 14F 2 FE T 1.0663] 0.4739] 1.1954] 1.1247] 0.6593] 0.9861] 0.9932
EIREENE BN R< 1 E IR AL 93 55 62 57 49 26 337
ENTIR RS < 1627 485% A H 8 8,129 5.476] 5,918 5978] 4.438] 1,142] 31,012
BN < EE 2 IR R 1.1440] 1.0043] 1.0476] 0.9534] 1.1041] 2.2767] 1.0866
HEEL R AR < 4E 2 SE T A8 57 75 83 55 57 8 335
ERTRG R < LAE 2 4505 A F 3 4867 6,183] 5,580 2,831 3,370 944] 23,723
BTG <14F 2 FE T 1.1711] 1.2130] 1.4874] 1.9427] 1.6913] 0.8474] 1.4121
Hig2pr EiEi<lE2 55T A 183 47 85 96 95 15 515
ENTIR R < 162 485% A H 8 17,270 5,503 8,008] 9,863] 9,555 978] 50,936
e L R 1.0596] 0.8540] 1.0496] 0.9733] 0.9942] 1.5337] 1.0110
1065F55 12 (B2 BT < 14E 23R T A 7 1 5 2 2 0 17
BT < 125 48% A\ B 8 1,383 155 723 277 590 112] 3,238
BTG <1 4F 2 FE T 0.5061] 0.6451] 0.6915] 0.7220] 0.3389] 0.0000] 0.5250
B BT R<EZIE T AR 14 17 14 19 10 4 78
ENTIR R < 1262 485% A H 8 2,013 1,534 1,506] 1.416] 1,106 253 7,815
BN < | EE 2 IR R 0.6954] 1.1082] 0.9296] 1.3418] 0.9041] 1.5810] 0.9980
WEmEBEGT B E<1FE 2T A 14 14 15 9 10 2 64
BT < 145 485% A\ B 8 1,222] 1,463] 1,358 758 943 196] 5,927
BT <1 4F 2 FE T 1.1456] 0.9569] 1.1045] 1.1873] 1.0604] 1.0204] 1.0798
Higehr B <1EZIET AR 40 3 16 24 13 1 95
ENTIE RS < 1627 485% A H 8 4351 1,434] 2,084] 2,508 2,368 276] 12,905
BTG RI< I E IR TR 0.9193] 0.2092] 0.7677] 0.9569] 0.5489] 0.3623] 0.7361
st
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RIS S SRR 2 1E L 2

:_‘%:

iER ol il =8in JbE& bl 1 =R | & | /&t
10375\ aF R e = L SE T B 1,839 ot6| 1,229 1177 1,183 199 6,352
BTG E = 1A 280 ) B | 182,022] 97,233 124,341 112,786] 129,316] 17,034] 653,764
BITHG R = 14E 2 S0 R 1.0103| 0.9420] 0.9884] 1.0435] 0.148] 1.1682] 0.9716
10475/ Nt BT E = 1A SE L B 1,886 025 1.252] 1,086 1261 200] 6,409
BTG IE = 14 4805 A 8 | 189,806] 102,066] 128,140] 116,369] 132.878| 17,479 677,729
BITIEE = 14 2 SL LR 0.9936] 0.9062] 0.9770] 0.9332] 0.9489[ 1.1442] 0.9456
10545/ N aF B Fhs e = 1 SE 0 8 1020 1,065 1,314 1274 1312 193] 6,907
B E = 14 489 ) 8 | 196,606] 106,304] 132,833 118,798] 135,265] 18,157] 698,416
BITHG R = 14E 2 JLL R 0.9811] 1.0018[ 0.9892] 1.0724] 0.9699] 1.0629] 0.9889
10655 12 [BHSE = 1 JE T B 466 226 315 274 311 53| 1,628
BN = 1 480, 8 | 50,788| 27,338] 34,249] 30,465| 34.331| 4,824] 178,810
BITIEE = 14 2 SL LR 0.9175| 0.8266] 0.9197] 0.8993] 0.9058| 1.0986] 0.9104
sk -
LRI © IR E RS RA (PRSI 24 - S5HI4RSE © 80 1455 ~ & 1456

2ERIHIE  PTR2BEITCRIFER05) ~ & IRE

3AFEA
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BEDS St SRR =R g

HFEER Fra PR B2 | EEER | EER | AE2nh

103E/N\3F B ATHER = 14E 22 3R T A B 669 1,763 1,626 3,041
IERTHER = 14F 27 48955 A B 8 64,456 155,478 129,802 314,824
HETIFR = 1 2 3E TR 1.0379 1.1339 1.2526 0.9659

10445/ et VEMISR = 14E 23R A8 635 1,663 1,602 3,205
IERTHER = 14F 27 48955 A B 8 66,695 159,837 134,272 327,765
ETIFR = 14 2 3E TR 0.9520 1.0404 1.1931 0.9778

10545/ N\et VEMESR = 14E 23R A8 675 1,796 1,666 3,456
IERTHER = 14527 48955 A B 8 68,740 165,481 134,377 340,457
EITIFR = 14 2 3E TR 0.9819 1.0853 1.2397 1.0151

1065 1E ENIERE = 1FE 22560 A8 136 383 364 800
IERTHSR = 14F 27 48955 A B 8 17,528 42,119 34,427 87,845
ETIFR = 14 2 3E TR 0.7759 0.9093 1.0573 0.9106

st
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AptRHDS iR diT BATER Z1& 2 = F

EZF R IR S &R 2 | k& | & | & | & | ®& | /et
1035/ N 2T, BRI = 1E 20 A B 298 42 139 50 92 50 669
ERTHRR = 14E 2 48955 A H 8 25,076] 6,062 10,818] 5,227 15,031 2,288 64,456
BT = 1R 2 SRR 1.1883] 0.6928] 1.2848] 0.9565] 0.6120] 2.1853] 1.0379
B P L A e AN 432 283 351 372 279 59 1,763
IBEIFHER = 142 445 A B #4 41,354] 25,699 29,011] 29,409 26,418] 3,946] 155,478
B = 1 2 SR TR 1.0446] 1.1012] 1.2098] 1.2649] 1.0560] 1.4951] 1.1339
A L P e N 380 325 366 249 273 451 1,626
EFTHRR = 14E 2 48955 A H 8 29,490 31,481 32,302] 15,124] 19,190 2,644] 129,802
BT = 1R 2 SRR 1.2885] 1.0323] 1.1330] 1.6463] 1.4226] 1.7019] 1.2526
Hg2r BRI = 12 3E T A 908 332 526 602 638 98] 3,041
B = 142 4855 A B #4 87,606 34,764] 53,481] 63,782] 69,832] 8,567| 314,824
BIIS = 122 SR TR 1.0364] 0.9550] 0.9835] 0.9438] 0.9136] 1.1439] 0.9659
104Nl B2y, [BiE e = 14E 2 SL L B 300 37 113 35 111 41 635
ERTHRR = 14E 2 48955 A H 8 25,835] 6,495 10,974 5.484] 15,500 2,465 66,695
BT = 1 2 SRR 1.1612] 0.5696] 1.0297] 0.6382] 0.7161] 1.6632] 0.9520
EI%EE R EHER = 12580 A 434 303 320 284 280 48] 1,663
IBEIFHER = 142 4855 A B #4 42,597] 26,769 29,991 30,201] 26,401] 4,182] 159,837
BIISGE = 1 2 SR TR 1.0188] 1.1319] 1.0669] 0.9403] 1.0605| 1.1477] 1.0404
A AL P e N 381 323 384 218 271 40| 1,602
ERTHRR = 14E 2 48955 A H 8 29,690 34,186] 32,798 15,811] 19,368 2,879 134,272
BT = 1 2 SRR 1.2832] 0.9448] 1.1708] 1.3787] 1.3992] 1.3893] 1.1931
Hg2rr | BEE = 12300 A B 960 333 567 616 699 103] 3,205
IBEIFIER = 1452 48 A\ B #4 93,376] 35,588] 55,504] 65,529] 72,761] 8,308| 327,765
IBIIS = 1 2 SR TR 1.0281] 0.9357] 1.0215] 0.9400] 0.9606] 1.2397] 0.9778
S CER eI AN 269 52 146 44 120 45 675
ERTHRR = 14E 2 48955 A H 8 25,738]  6,518] 12,188] 5,820] 15,891 2,663 68,740
BT = 1 2 SRR 1.0451] 0.7977] 1.1978] 0.7560] 0.7551] 1.6898] 0.9819
EI%EE R EHER = 12580 A 418 338 342 362 287 54 1,796
IBETFIER = 1422 4855 A B #4 43,889 27,629 31,141 32,399 26,525 4,192] 165,481
B = 1 2 SR T 0.9524] 1.2233] 1.0982] 1.1173] 1.0819] 1.2881] 1.0853
A AL P e N 371 397 373 226 271 44 1,666
ERTHRR = 14E 2 48955 A H 8 27,658] 36,300] 33,241 15,331] 19,202 3,158| 134,377
BT = 1R 2 SRR 1.3413] 1.0936] 1.1221] 1.4741] 1.4113] 1.3932] 1.2397
Hg2r BRI = 12 3E T A 1,039 367 586 718 729 88| 3,456
IBEIFHER = 142 485 A B #4 100,959 36,694] 57,374] 65,813] 74,765] 8,525] 340,457
IBIIS = 1 2 SR TR 1.0291] 1.0001] 1.0213] 1.0909] 0.9750] 1.0322] 1.0151
10655 12 BRIy, A = L2 SL T 8L 62 5 20 10 29 10 136
ERTHRR = 14E 2 48955 A H 8 6,629 1,613] 3,128] 1,496 3,976 711] 17,528
BT = 1 2 SRR 0.9352] 0.3099] 0.6393] 0.6684] 0.7293] 1.4064] 0.7759
EIREE R EHER = 12580 A 98 57 82 79 53 14 383
IBEFIER = 1422 485 A\ B #4 11,195]  7,141] 7,922] 8,261 6,615] 1,084] 42,119
IBIISE = 1 22 SRR 0.8753] 0.7982] 1.0350] 0.9563] 0.8012] 1.2915] 0.9093
A A B e N 80 75 88 52 58 11 364
ERTHRR = 14E 2 48955 A H 8 6,839 9,401] 8,677 3,929 4.888] 854] 34,427
BT = 1 2 SRR 1.1697] 0.7977] 1.0141] 1.3234] 1.1865] 1.2880] 1.0573
HE2r BRI = 1 3E T A 240 96 133 139 176 24 800!
IBEFIER = 1422 485 A\ B #4 26,501]  9,429] 14,816] 16,964] 19,155 2,270 87,845
IBIIS = 1 2 SR TR 0.9056] 1.0181] 0.8976] 0.8193] 0.9188] 1.0572] 0.9106
fHaE -
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dp%PDl PESA 45 _F R K - ¢ R9 (Albumin)

F£F YR &dkb b R F§l& [ HIE /NeT

STl 28 21 27 19 17 5 117
Albumin-f§ & LR 99.51% 100.00% 99.93% 99.53% 99.68% 100.00% 99.69%
Albumin(BCG)ZZ ¥ 23 19 18 19 17 5 101
Albumin(BCG)FH{H 3.6957 3.8071 3.7434 3.7063 3.7249 3.6862 3.7265
Albumin(BCG) =3.57 H47kE 86.56% 90.69% 88.94% 87.41% 38.06% 82.61% 87.93%
Albumin(BCP)F # 6 2 9 3 0 1 21
Albumin-~FH5{E (BCP) 3.2085 3.1733 3.2935 3.1385 0.0000 3.0691 3.2299
Albumin(BCP)=3.0.2 5 4y EE 85.53% 96.15% 90.48% 81.72% 0.00% 77.78% 86.44%

105/ et |Bepen 28 20 27 19 16 4 114
Albumin-f§ & LR 99.03% 99.89% 99.35% 99.25% 98.83% 97.78% 99.17%
Albumin(BCG)ZZ ¥ 23 18 18 19 16 4 08
Albumin(BCG)FH{H 3.7036 3.7989 3.7062 3.7244 3.7342 3.7443 3.7277
Albumin(BCG) =3.57 H457EE 85.14% 90.88% 87.74% 38.48% 38.00% 89.39% 87.55%
Albumin(BCP)F # 6 2 9 0 0 0 17
Albumin-~FF5{E (BCP) 3.2310 3.2196 3.2217 0.0000 0.0000 0.0000 3.2267
Albumin(BCP) =3.0.2 5 4y EE 86.93% 83.33% 90.88% 0.00% 0.00% 0.00% 88.41%

106465512 |Befrl 27 20 26 19 15 4 111
Albumin-f§ & LR 97.78% 98.95% 98.70% 98.73% 98.05% 96.00% 98.25%
Albumin(BCG)ZZ ¥ 22 18 17 19 15 4 95
Albumin(BCG)FH{H 3.7615 3.8460 3.7410 3.7320 3.7235 3.7597 3.7568
Albumin(BCG) =3.57 H47kE 80.27% 84.33% 79.67% 81.41% 76.90% 85.00% 80.33%
Albumin(BCP)F # 6 2 9 0 0 0 17
Albumin-~FH5{E (BCP) 3.3127 3.1733 3.2472 0.0000 0.0000 0.0000 3.2801
Albumin(BCP)=3.0.2 5 4y EE 77.85% 77.78% 80.59% 0.00% 0.00% 0.00% 79.02%

ERIE ¢ (A R R TR T 2

QRN PN (S IE 505) K & AT T B 7 VPN_ AR BRI, -

3ARER

(DR EE =43 15055 AR Albumin A S/ A8 MERE BB TR A B - $5HE4RYE © 1 1957 ~ 48 1985 -

() B =R Albuminfg i {HE =~ &1/ EH R Albumind@ B (E K02 SEHAEA] - F5IE4RSE - = © BCG : 2034 ~ BCP : 2035 ~ 4 : BCG © 2054 ~ BCP : 2055 -
(3)BCCGHERE) =3.55 77 bh=53E1H% A HIE Albumin(BCGIE) = 3.5gm/dl 2 A /18 ERE HEE TR AR E Albumin(BCGIA) A% - F5IE4RT%E © 28 ¢ 1960 ~ 45 : 1988 -
(4)(BCPHERE) = 3.0 43 Lb=3 B AT Albumin(BCP/%) = 3.0gm/dl A\ S48 14 RE B AT A HIE Albumin(BCPIA) A - FEIE4m5E « = @ 1961

# BB ) ER ¢ ptE HINgTE o SN H MR AN R IR A -
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42 EPDL SO 47

%%k fi—5 i 6 F=d (Albumin)

HFEER Fra PR BEd | BEEElRR | #EElR | e
10450t |FRArE 19 67 19 12
Albumin-fg 23 [[3% 99.72% 99.63%| 100.00%| 100.00%
Albumin(BCG)ZZ & 18 58 13 12
Albumin(BCG)-F-H{H 3.7173 3.7352 3.7871 3.7578
Albumin(BCG)=3.5" 1 47kL 86.88% 88.54% 93.41% 95.52%
Albumin(BCP)Z: 5 2 11 6 2
Albumin-*F-5{g (BCP) 3.3153 3.2163 2.9867 3.9429
Albumin(BCP) =3.0 H 4y EL 89.72% 86.64% 68.42%|  100.00%

1055/ |FRFrE 19 69 17 9
Albumin-f & L% 99.28% 98.92%| 100.00%|  100.00%
Albumin(BCG)ZZ & 18 60 11 9
Albumin(BCG)F-H{H 3.7297 3.7188 3.8072 3.7939
Albumin(BCG)=3.5 &5 47th 86.44% 88.69% 89.24% 98.11%
Albumin(BCP)Z: 5 1 10 6 0
Albumin-*F-5{g (BCP) 3.2539 3.2570 2.9605 0.0000
Albumin(BCP) =3.0 H 4y kL 93.16% 88.57% 73.02% 0.00%

NS ES G 19 67 16 9
Albumin-fg 23 3% 98.88% 97.40% 98.25%|  100.00%
Albumin(BCG)ZZ & 18 58 10 9
Albumin(BCG)F-H{H 3.7393 3.7759 3.8609 3.7844
Albumin(BCG)=3.5 &5 47EE 78.98% 81.95% 83.19% 88.89%
Albumin(BCP) 57 5 1 10 6 0
Albumin-*F-5{g (BCP) 3.2535 3.3238 3.0743 0.0000
Albumin(BCP) =3.0 H 4y kL 81.76% 79.64% 65.31% 0.00%

st

LERZR © IR E e RGITEE I 24 -
2.EREE ¢ PIR2IETE B UR05) R BT i VPN_E E iR EkHE -

3AREH

(WAL= R AHIE Albumin N B VERERE AT A8 - $EER4RSE © 2= ¢ 1957 ~ 21 1985 -
(2)° FH5{E = Hr Albumin R 5B (B = 41/ FH Er Albumin SR ERE K02 SEHAEA - $5EE4RS%E © 2=+ BCG * 2034 ~ BCP
2035 ~ 4 1 BCG © 2054 ~ BCP : 2055 -
Q)BCGHaERE) = 3.5E 47 Eh=53 B AHI B Albumin(BCGIE) = 3.5gm/dl 2.\ B8 MERE B AT AN & Albumin(BCG%)
N FERRARSR © 2 1960 ~ 4F 1 1988 -
(4)(BCPHgERIE) = 3.0 43 Eb=53 B ACHIE Albumin(BCPIZ) = 3.0gm/dl A B/18 4R A5 12479 AT & Albumin(BCP/%)
N - FERRARSE © 3R 0 1961 ~ ARt 1989 -
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Fn BBPD3 LS 45

Fatkda-Hb

FEF gl =il &4t JE& & & =5 B /NEt

1044F/Ne R s 26 18 25 19 16 5 109
Hb-fa & R 99.70%] 100.00%| 99.86%] 99.44%| 99.71%| 100.00%] 99.74%
Hb-F5{H 10.5066 10.5924] 10.2326] 10.3363] 10.3549 10.3453) 10.4146
Hb>8.5¢/dL 75 47kh 97.72% 97.32%] 97.15%| 96.80%| 96.98% 96.23%| 97.29%

1054F/\&t R s 28 17 26 19 16 3 109
Hb-fa & R 99.08% 99.80%] 99.57%| 99.23%| 98.46% 93.88%| 99.10%
Hb-F51{H 10.3067 10.3908 9.9425] 10.2151] 10.2170 9.9874] 10.2181
Hb>8.5¢/dL 75 47kh 97.22% 97.77%) 95.96%| 97.48%| 97.44% 97.83%| 97.14%

10645612 iz 4y 26 18 24 18 15 4 105
Hb-fa & R 98.04% 99.34%] 98.95%| 98.28%| 97.28% 97.50%] 98.26%
Hb-EHE){H 10.2607 10.2808] 10.0268] 10.1118] 10.0819 10.4333] 10.1698
Hb>8.5¢/dL 7 47kh 89.39% 92.26%] 89.36%| 91.03%| 87.50% 94.87%| 89.73%
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BRPPR IR B A ITEEST A4 -

2;H%ﬁl PR R & BT T ER R VPN _E(E B g

3AFEREA -

(Dig & LEER=5rRHE IS Hb AN/ MRS TR AL - F5iF4mE - 2= 0 1965 ~ 4 ¢ 1995 -

()P E=FHHuiRERE ~ 481/ FREHORERE A0 485 E] - F5IE4R% © 28 ¢ 2038 ~ 4F 1 2059 -
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$51PD3 S 47 R 4 &b

HFF Rl B2y | BEBR | tEER | A2

10446/ N B 19 65 16 9
Hb-f & & 99.77% 99.67% 100.00% 100.00%
Hb- 35 10.4250 10.4180 10.3949 9.8226
Hb>8.5¢/dL> F 47tk 97.14% 97.40% 95.73% 100.00%

10545/ Nt B 19 66 16 8
Hb-f & L% 99.03% 99.12% 100.00% 100.00%
Hb- 35 {H 10.1921 10.2535 10.3785 9.6934
Hb>8.5¢/dL” F 77Lh 96.84% 97.55% 96.23% 96.15%

1064E5512F |Beprs 19 64 13 9
Hb-f & L% 98.88% 97.20% 100.00% 100.00%
Hb- 35 {H 10.1244 10.2296 10.2988 10.1233
Hb>8.5g/dL” & 47Lh 89.07% 90.73% 91.76% 83.33%
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ipHRPDD AT _SATER <lE 2

FF ALYl &b | Jtl& | F& | MHE | S5 | BE | et

1035E/ et BT EI<1 20T AB 30 11 11 6 10 0 68
BT <15 2 489% AN HE 4,594 1,677} 2,725 2,110} 2,359 256) 13,720
AT R <15E 2 FE T % 0.6530] 0.6559] 0.4036] 0.2843] 0.4239] 0.0000] 0.4956

10455/ et BT EI< 1 2 2E T AB 29 6 13 5 10 2 65
AT <15 489% AN H# 5,185 1,598] 2,589 1,653 2,496 279 13,798
AT R <15E 2 JE T % 0.5593] 0.3754] 0.5021] 0.3024] 0.4006] 0.7168] 0.4710

1055E/ et BT EI<1 2R T AB 29 6 12 11 8 1 66
AT <15 489% AN HE 4,858] 1,681} 2,711} 1,975 2,456 296| 13,977
AT R <15E 2 FE T % 0.5969] 0.3569] 0.4426] 0.5569] 0.3257| 0.3378| 0.4722

106556515 BT EI<1FE S0 T A 2 4 3 1 1 1 12
BT <15 2 489 AN H# 1,125 438 633 452 637 80| 3,364
AT R <1E 2 JE T % 0.1777] 0.9132] 0.4739] 0.2212] 0.1569] 1.2500] 0.3567

st
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LERHE  PTRENGEEDER0S) ~ KIRE

3T

BT < ESETER= CEREHRZENT/ N TEZIETEZEED X 100,/ CEHEHRIEN /IR 1 2 888 A H 80
orT L oy ERR BRI SR A
SrEE AR < VAR MEENTR A Rt E A R Rf T2 R E T o2 AR -
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FEPDS  HEE AT SRR <lEz = 5
FF eI BETL | BB | tEREE | AE2H
1035/t BT HE<IE 2L A 26 40 2 0
BEATHF <15 2 & A H # 6,893 6,225 563 40
BT < I 2 SE L% 0.3771 0.6425 0.3552 0.0000
1045/t BT HE<IE 28T A 27 34 4 0
BEATHF <15 2 4 A H # 7,023 6,208 531 37
BT < I 3B L% 0.3844 0.5476 0.7532 0.0000
1055/t BT HE<IE 2B A 26 39 1 0
AT < 14F 2 48955 A\ H B 7,099 6,313 554 11
BT < I 2 SE L% 0.3662 0.6177 0.1805 0.0000
1065F55 15 BT HE<IE 2L A 5 7 0 0
BEATHE <15 2 &8 A H # 1,825 1,428 109 3
BT < I 3B L% 0.2739 0.4901 0.0000 0.0000
et
LERAOR (IR BRI (TR 24 - $50HRSE 5 0 1451 70 14592

LERHE  PTRENGEEDER0S) ~ KIRE

3T

BT < ESETER= CEREHRZENT/ N TEZIETEZEED X 100,/ CEHEHRIEN /IR 1 2 888 A H 80
orT L oy ERR BRI SR A
SrEE AR < VAR MEENTR A Rt E A R Rf T2 R E T o2 AR -
x TIBMEBETRA ) ERE LR DG - G0 (E A IR AT = R A
4BIFHEA © 106/07/25
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AptEPD EMEAT_S TR <& 2 X

EZF Re& Rl SR it | t& | & | H& | &8 | EE | /het
1034/ Nat &2y B < 4E 2SR T ASL 16 2 3 3 2 0 26
NI <122 4% N B By 2,561 627] 1,443 815 1,278 169] 6,893
BITIER<14F 2 FET % 0.6247] 0.3189] 0.2079] 0.3680] 0.1564] 0.0000] 0.3771
EEIRBET  ENTHRR<1 2SR T AR 14 8 7 3 8 0 40
N < 1 2. 487 N5 By 1,977 802 1,125] 1,245 989 87 6,225
BT <14F 2 SR % 0.7081] 0.9975] 0.6222] 0.2409] 0.8088] 0.0000] 0.6425
Wlshe [EiTR<1E 2T AE 0 1 1 0 0 0 2
MR <14 2 45 N H % 56 236, 134 50 87 0 563
BITIER<14F 2 FET %= 0.0000] 0.4237] 0.7462] 0.0000] 0.0000] 0.0000] 0.3552
g2 [EEERE<1E 25T A 0 0 0 0 0 0 0
TS i < 1 2 4895 N\ H B 0 12 23 0 5 0 40
_ BT <14F 2 SR % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
1049/ NaT B8l BRI RI<EE 2SR T AL 13 2 7 0 3 2 27
NI < 122 439% N B By 2,996 592] 1,407 496] 1,398 135] 7,023
ENTIFE < 29T & 0.4339] 0.3378] 0.4975] 0.0000] 0.2145] 1.4814] 0.3844
EEIRBENT  ENTHRR<1 2SR T AR 16 3 5 5 5 0 34
N < 1 2. 4897 N5 By 2,136 7771 1,027 1,108] 1,016 144] 6,208
BT <14F 2 SR % 0.7490] 0.3861] 0.4868] 0.4512] 0.4921] 0.0000] 0.5476
Wlashe BT R<1E 2T AE 0 1 1 0 2 0 4
NI <122 4% N B 8] 53 218 140 49 71 0 531
BITIER<14F 2 FET % 0.0000] 0.4587] 0.7142] 0.0000] 2.8169] 0.0000] 0.7532
g2 [EEER<1E 25T A 0 0 0 0 0 0 0
TS i < 1 2 4895 A\ H B 0 11 15 0 11 0 37
_ BT <14F 2 SR % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
1055/NaT B8Rl BRI RI<EE 2SR T AL 13 0 8 3 1 1 26
NI <122 4% N B By 2,632 743 1,573 663] 1,324 164] 7,099
BITIER<14E 2 FET %= 0.4939] 0.0000] 0.5085] 0.4524] 0.0755] 0.6097] 0.3662
EEIRBENT  ENTHRR<1 2SR T AR 15 6 4 8 7 0 39
N < 1 2. 4807 N5 By 2,170 721 o916] 1,312] 1,062 132 6,313
BT <14F 2 SR % 0.6912] 0.8321] 0.4366] 0.6097] 0.6591] 0.0000] 0.6177
WEBfE [EATEE<1E 2350 AEL 1 0 0 0 0 0 1
MR <14 2 485 N H % 56 212 217 0 69 0 554
BN R<1 252 FE LR 1.7857] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.1805
g2t ENE<1EZIET A 0 0 0 0 0 0 0
Z MR <14 2 4895 A\ H 0 5 5 0 1 0 11
_ BT <14F 2 SR % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
1065512 (B2 EM < IE IR T AR 0 1 1 1 1 1 5
NI <122 4% N B By 606 208 406 173 380 52 1,825
BITIER<14E 2 FET %= 0.0000] 0.4807] 0.2463] 0.5780] 0.2631] 1.9230] 0.2739
EEIRBET  ENTHRR<1 2SR T AR 2 3 2 0 0 0 7
BTSRRI <14E> 48 A B8 507 179 197 279 238 28] 1,428
BT <14F 2 SR % 0.3944] 1.6759] 1.0152] 0.0000] 0.0000] 0.0000] 0.4901
Wb [EiTR<1E 2T AE 0 0 0 0 0 0 0
MR <14 2 485 N H % 12 51 30 0 16 0 109
BITIER<14E 2 FET % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
g2t [EMFE<1EZIET A 0 0 0 0 0 0 0
TS i < 1 2 4955 A H B 0 0 0 0 3 0 3
BT <14F 2 SR % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
{%sz:
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IRPDS

IR - S A

5}'

HEZE Ty gt | k& | & | & | &F | E& | /st
10375/ e | Bige = 12 JE T B 181 67 76 83 71 0
BTG = L A A B | 21,446] 8,005] 12,098 9,839 10,754] 1,159] 63,300
BT = 1 JL LR 0.8439] 0.8369] 0.6282| 0.8435| 0.6602] 0.8628] 0.7646
104 NeF AT = V2 e By 166 65 85 59 68 11 453
BTG = L fm A 8 | 21.392] s,044] 12277 9.086] 11,025] 1,167] 63,801
BT [5] = 12E. JL LR 0.7759] 0.8080] 0.6923| 0.5908| 0.6167] 0.9425] 0.7090
10575/ ek B ige = L2 JE T B 162 59 1 63 63 s 451
BT = 1 26 ) 8 | 21.868] 7.877] 12,161] 9,832 11,463 1,170] 64,371
BT = 1 JL LR 0.7408] 0.7490[ 0.7482| 0.6916] 0.5932] 0.4273] 0.7006
1065812 | BiEe = L2 JL T B, 37 10 15 16 12 1 91
LR INEE 5502 1,054] 2,993 2,510 2,906  318| 16,183
TS5 = 125 JL LR 0.6724] 0.5117] 0.5011] 0.6374] 0.4129] 0.3144] 0.5623
%&
BERPEE © R REEIRGTIER T 447 - faEE4RTE © = 1 1457 ~ &£ ¢ 1458
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3ATEREH ¢
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A tRPDD AT BT R = 1E 2 - ¥
HFF FraE B2 | BEER | #EB | BAE2h

1034E/ et ETHSRY = 14E 23R T A8 219 250 11 11
BT = 14F 27 48955 A H 8 35,368 25,609 1,497 830
BN = 1 2 FE TR 0.6192 0.9762 0.7348 1.3253

10455/ N\aF EMTHSRE = 14E 22 46T A8 214 226 10 5
IENTHERE = 14F 27 489 A H & 35,478 25,922 1,786 705
BN = 1 2 FE TR 0.6031 0.8718 0.5599 0.7092

10545 /N\aF BMTHSRE = 14E 22 46T A8 216 218 18 2
IENTHERE = 14F 27 489 A H & 35,262 26,771 1,752 586
BN = 1 2 RT3 0.6125 0.8143 1.0273 0.3412

1065512 BT = 14E 2R T A B 35 50 6 0
BT = 14627 4895 A H 5 8,835 6,767 449 132
BN = 1 2 FE TR 0.3961 0.7388 1.3363 0.0000
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BRPDS S SR = e L e

HFF FAER SR 2 | tE | & | & | & | EE | st
1034E/N\at [E2Eh), BEMER = 122550 A8 96 19 42 27 29 7 219
EATHE = 14E 2 4895 A H 8 13,035] 4,092 7.417] 4,109 6,163 552| 35,368

EATIGER = 12 SET =R 0.7364] 0.4643] 0.5662] 0.6570] 0.4705] 1.2681] 0.6192

EIKEEE BT = 12 3R T A 85 36 32 55 40 3 250
IBNTIER = 14 22 480 A H 8 8,206 3,126 3,938] 5,568] 4,188 583| 25,609

BATHER = 1R SR 1.0358] 1.1516] 0.8125] 0.9877] 0.9551] 0.5145] 0.9762

WEmBEGT [ETEN = 1E 23R T AR 3 6 0 0 2 0 11
IEATHE = 14E 2 4895 A H 8 193 583 350 2 369 o] 1,497

BEMIFR = 12 FE TR 1.5544] 1.0291] 0.0000] 0.0000] 0.5420] 0.0000] 0.7348

Higehr B = EZIE T A 0 8 2 1 0 0 11
IBNTIER = 14 22 480 A H 8 12 206 393 161 34 24 830

EATISER = 1E 2 SET = 0.0000] 3.8834] 0.5089] 0.6211] 0.0000] 0.0000] 1.3253

10455/ N3t |82, [BENIER = 158E 230 A8 83 19 54 20 31 7 214
IEATHE = 14E 2 4895 A H 8 12,904] 3,978] 7.427] 4,228] 6,359 582| 35,478

EMTISER = 12 SR =R 0.6432] 0.4776] 0.7270] 0.4730] 0.4874] 1.2027] 0.6031

EIREE[R [ENTER = 12 5E 0 A B 81 41 27 38 36 4 226
IENTIER = 1R 22 480 A H 8 8,296 3,235 4,038] 5,547 4,243 563| 25,922

BATHER = 1R SR 0.9763] 1.2673] 0.6686] 0.6850] 0.8484] 0.7104] 0.8718

Ml BERT AT = 14 23T A 3 4 2 0 1 0 10
IEATHE = 1 4E 2 4895 A H 8 189 667 471 82 377 of 1,786

BEMIFR = 12 FE TR 1.5873] 0.5997] 0.4246] 0.0000] 0.2652] 0.0000] 0.5599

Higz2pr [BEER = 1E 250 A 0 1 2 2 0 0 S
IBNTIER = 1422 480 A H 8 3 164 341 129 46 22 705

BATHER = 1R SR 0.0000] 0.6097] 0.5865] 1.5503] 0.0000] 0.0000] 0.7092

1054E/N\at [E2E8ch), BEMIER = 1822550 A8 87 22| 51 22| 32 2 216
IEATHE = 14E 2 4895 A H 8 13,070] 3,743] 7.283] 4,012 6,559 595| 35,262

EATISER = 12 SRR 0.6656] 0.5877] 0.7002| 0.5483] 0.4878] 0.3361| 0.6125

EIREL . BEATHER = LEE 23R T A8 74 28 36 46 32 3 218
IBNTIER = 1422 480 A H 8 8,620 3,338] 4,003] 5,717 4,459 574] 26,771

BATHER = 1R SR % 0.8584] 0.8388] 0.8860] 0.8046] 0.7176] 0.5226] 0.8143

MBS AT = 14 23T A 2 8 3 0 5 0 18
IEATHE = 14E 2 4895 A H 8 178 649 517 0 408 o] 1,752

BEMIFR = 12 FE TR 1.1235] 1.2326] 0.5802| 0.0000] 1.2254] 0.0000] 1.0273

Higehr B = EZIE T AE 0 1 1 0 0 0 2
IBNTIER = 1422 480 A H 8 0 147 298 103 37 1 586

EATISER = 1E 2 SET = 0.0000] 0.6802] 0.3355] 0.0000] 0.0000] 0.0000] 0.3412

1064F55 12 B2 [ZENTIF = HEZ 3R T AL 12 6 5 6 5 1 35
IEATHE = 14E 2 4895 A H 8 3,293 919 1,791 1,024] 1,643 165 8,835

EMTISER = 12 SET =R 0.3644] 0.6528] 0.2791] 0.5859] 0.3043| 0.6060] 0.3961

I EEpe BT = HEZSE T A B 25 1 9 10 5 0 50
IBNTIER = 1422 480 A H 8 2,175 848 979 1468 1,144 153] 6,767

BATHER = 1R SR 1.1494] 0.1179] 0.9193] 0.6811] 0.4370] 0.0000] 0.7388

MBS AT = 14 23T A 0 3 1 0 2 0 6

IEATHE = 1 4E 2 4895 A H 8 34 151 154 0 110 0 449

EATISER = 12 SET =R 0.0000] 1.9867] 0.6493] 0.0000] 1.8181] 0.0000] 1.3363

Higehr B = EZIE T A 0 0 0 0 0 0 0
IBNTIER = 1422 480 A F 8 0 36 69 18 9 0 132

EATISER = 1E 2 SET = 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000

it
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3SR

AT = L4EE L= CEMIIRIANT AR SR 142 SECERED X 100,/ CEMTIBNT AR 1 142 407 A 1D
5+ SRR BN R 2 SE A -
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M ST F R & T 4
EHShE] BR PR S
£ % /,,\'?v | o A A F PR 7 ¥ B 5 A ¥ £
104 %1% [=ppor s | 0.05% | 0.16% | 0.10% | 0.02% | 0.02% | 0.01% | 0.06%
104# %2% [=ppor s | 0.01% | 0.10% | 0.12% | 0.01% | 0.01% | 0.03% | 0.04%
104# %3% b | 0.01% | 0.08% | 0.13% | 0.01% | 0.01% | 0.00% | 0.04%
104# 4% [=ppor s | 0.01% | 0.11% | 0.12% | 0.01% | 0.01% | 0.01% | 0.04%
1044 13+ |t | 0.02% | 0.11% [ 0.12% | 0.01% | 0.01% | 0.01% | 0.05%
1054 %1% [=ppor s | 0.02% | 0.22% | 0.10% | 0.01% | 0.01% | 0.02% | 0.06%
1054 %2% [=ppor s | 0.02% | 0.18% | 0.09% | 0.01% | 0.01% | 0.00% | 0.05%
1054 %3% =tipor s | 0.01% | 0.21% | 0.09% | 0.01% | 0.02% | 0.00% | 0.05%
1054 4% [=pipor s | 0.01% | 0.17% | 0.09% | 0.01% | 0.03% | 0.01% | 0.05%
1054 13+ |aetpor s | 0.01% | 0.19% [ 0.09% | 0.01% | 0.02% | 0.01% | 0.05%
106 %1% |a=+ipora | 0.01% | 0.18% | 0.18% | 0.01% | 0.00% | 0.01% | 0.07%
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